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1. Evaluate
i ) f\/§ rva—a? S
I-= / / (z* +y?) dydz
0 i/

by converting to polar coordinates.
- 0

2. Find the area of the surface given by z = 22 + y for (z, y) in

D={(z,y): 0<y<4z, 0<z<1}.
a\%, (22 ¢
,{H 6x)+<ﬁ3 O‘XJa A 126 — 42

S
iy Y

\+4x + | de]olx

C. 2v6
B D. 10v/5—-2
2.
Y 4% l\ux dx N
0 3 .}. 3 3
2.

2
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3. Let E be the solid region in the first octant that is above the zy plane and below the plane
2z +y + z = 4. Then the iterated integral satisfying —

//Ef(x’y’z)dvz/Oa/ob/ocf(x,y,Z) dzdydz

must have

A a=4 b=4-2z—y T 4 -2 K
B.a=4,b=4-22

C.a=2,b=4-2z—y

Doa=2 b=4—2-2z

e

> C B a=2b=4-2 ‘J' = .
4 . 77,)(\—334» K a

X a = 2

2

4. Use spherical coordinates to compute [[ [, v/2? 4+ y? + 2% dV where (2 is the region above the
cone v/3z = 1/x2 + y2 and below the sphere 22 + y? + 22 = 10.

52L:«L+31 = 43°= ’Xl*agf e :fl A 5m
T
= f=2e=2feg = @§=2TES En)
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5. A solid material occupies the region enclosed by the cylinder 22+ y2 = 4 and the planes z = 0
and x + z = 8. If its mass density per unit volume is p(z,y,2) = y2, which of the following
integrals equals its mass?

2 2 8—2cos 6
A. / / / r3sin? 0 dzdrdf
0 0o Jo S m———
2 4 8—2cos 6
B. / / / r?sin? 0 dzdrdf
0 0o Jo
2 2 8—2cosf
C. / / / r2sin? 0 dzdrdf
27r 8—rcos 0
/ // rsm&d@ Dsfsg—‘x:g”i’m@

2 8—rcosf
E. / / / r?sin?0 dzdrdf 0 <C &2
o Jo Jo ‘A
4\7. 0 SQ 2V
/ 4 2 2
A Y \()s - <w O
i / Z
\ / .
>

6. Evaluate the line integral [, 12z coszds, where the curve C is parameterized by ) =
(¢, t*+3,0) for 0 <t < 1.

\

12t 0530-,[1}}(215\}* 0 dt A1
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7. Let 7(t) = (cost sint, t), 0 <t < m, be the parametnzamon of the curve C, and let F =V f
with f(z, y, 2) = y® + 222. The line integral | f—F—dvrﬂs e

i) - ()

B. 37

o I B { () SR
= [o+2-(~'3‘ﬂj - [“ 0 |

= =27

8. Let C be the oriented curve described by the intersection of z = z? and y = 0 from (-1, 0, 1)
2 to (1,0, 1), and let F = (322, —e®y, 1). Then the line integral JoF-dris

A . "
(“,\) (\/ ) YH'): <t o t 3 A —4
N = Lt
B R D,
| —/ 4
0747 = | F (i) v

c 1
)
\_.g)?('to‘[}\)‘<’/0,2_t>di.
JoJ
\
) ,
:g' <3f7; O/ L7 = <1, °, 2t>CLt“

:Pf '<%’rl+ z’f) dt =2 Y‘Btla& -t
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9. A potential function for the vector field F(z, y) = (2¢¥, 2ze¥ + y) is

A. There is no potential function for thm vector field

B. 2ze¥ 4+ zy+ C a'e'_ 28 -—%’{1 a\ 2Xe +5 3\

C. 2ze¥ + 22y + C

Q;::‘:@ i 2ve -t‘a = 2xe%+3(%\

2
= 5(3\:‘3 -"‘—-‘~'>5(‘<ﬂ:i3 + C
= %x,%\: 28 g+» g ‘dz+ -

10. Let C' be the boundary of the triangle with vertices (0, 0), (1, 1), and (0, 1), and C is oriented
counterclockwise, then the line integral f csinydx + (zcosy + 4x) dy is

(Q!\\ (‘, \) Al




